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1058 $3FF LAV REFRSTTRALL

. kAP Py
itk Al rAE | PR | e R B | % | 2 R 3@ I N L&
I
Albumin- £ # % 91.26%| 89.98%| 98.64%| 98.79%| 98.89%| 98.11%| 95.46% %%% 89. 43%~100%| o o o o o o o
Albumin(BCG) #ic 148 68 111 97 117 16 557 .
X P Albumin(BCG) 5 & 392 3.87 392 3.89 3.86 3.95 3.90
Albumin(BCG) =3.5F 4 » 90.05%| 88.51%| 89.11%| 89.90%| 88.79%| 89.68%| 89.36%| &+ | =84.63% o o o o o o o
Albumin(BCP) 33k 6 6 10 7 1 2 32 i
Albumin- ¥ i (BCP) 3.58 350  3.38 3.81 326| 323 3.49
Albumin(BCP) 23.0F & 89.87%| 85.86%| 87.35%| 96.09%| 85.71%| 78.91%| 8835%| &% | =83.57% | o o o o o < o
=P
URR URR-£ # & 0135%| 90.65%| 98.63%| 98.72%| 98.77%| 98.05%| 95.55%| "PEC |89, 20%-100%| o o o o o o o
2 |(1024# #5HT B, B A HHile
iy "URR-2 35 76.06| 76.12| 7498 | 7532| 7474 74.13| 7542 -
URRZ65%F A 96.94%| 97.30%| 97.14%| 97.54%| 97.02%| 96.26%| 97.13%| &% | =88.97% o o o o o o o
I
fib Hb-5% # ¥ 9237%| 90.16%| 98.86%| 99.10%| 9921%| 98.67%| 95.99%| *VEL |89 seu-100%| o o o o o o o
3 [(102& st R, Bk R HiEu[E
et " [Hb-x 58 1059 1052| 10.58| 1061| 1070| 1053 | 10.60 -
¢ Hb> 8.5F 4 95.09%| 95.21%| 94.55%| 95.47%| 96.15%| 94.51%| 9527%| &+ | =88.73% ° ° ° ° o o o
FH oo [EHRE<IEL 2 F 039 069 056| 084 069] 085 055 ¢ <1.11 o o o o o o o
BHBERZ1EL 5 & 0.73 050 075 041 070| 088] 069 % =1.07 o ° o o o o o
TEFR[SHRE<1ELr & 0.87 150 056 042 0.82 132] 086 % <1.25 o > o o o > o
e BHBERZ1EL 5 & 069 096 092| 074 0.99 1.15 084| § =1.19 o ° ° ° ° ° °
5 A/BEF A . %
( /f)p BoR R [BITRE RS 097 085 144| 167 098 120 LIS| fe | <=1.54 ° o o > ° o °
BHPEEZ1E2 57 K 0.81 0.85 0.61 0.94 1.21 1.00 085| f = =1.36 o o o o o o o
BE D |[BHBR<LELR < F 0.75 0.57 064 072 0.71 L8| 071] g <1.13 o >
BHBEE21E2 7 & 071 074 066| 081 0.81 056 075| g =<1.05 o o




1058 $3FF LAV REFRSTTRAKL
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p i IS 45 20 A 3 ® ¥ Sy %3 : 3 ® ¥
AN
Albumin- # % 91.15%| 98.54%| 99.14%| 99.06%| 98.66%| 99.14%| 96.23% iﬁ% 89. 72%~100%| o o o o o o
Albumin(BCG) 3k 22 16 18 19 14 3 92 -
. iFd R Albumin(BCG)< 5 i# 3.69 3.81 3.71 3.76 3.74 3.78 3.74 -
Albumin(BCG)Z3.5F 4 »* 73.53%| 84.16%| 79.01%| 80.89%| 79.95%| 83.48%| 78.65%| & % >79.14% < o < o o <
Albumin(BCP) Fc 5 2 9 0 0 0 16 -
Albumin- 32 & (BCP) 3.26 3.21 3.23 - - - 3.25 -
Albumin(BCP) 2 3.0 4 » 78.32%| 78.95%| 79.57% - - -| 78.85%| &% >77.80% o o o - - o
= A
b Hb-£ ¥ & 89.84%| 99.04%| 99.09%| 99.33%| 98.46%| 100.00%| 95.72% g% 89. 77%~100%| o© o o o o o
& 3 .
3|0z *”f]‘ ’f)p Rkl T 10.40 10.39 10.02 10.21 10.30 10.21 10.28 -
C
Hb> 8.5 4 W 88.59%| 92.25%| 88.10%| 90.29%| 91.51%| 96.88%| 89.90%| & % >87.56% o o o o o
Fgeoo [BIRR<lEL 0.61 0.00 0.50 0.56 0.00 0.00 039 | g+ <0.41 > > o o
BRBE1E2 0 & 0.27 0.44 0.28 0.30 0.31 0.68 031 f# =<0.67 o o o o > o
N FHFR|EHRELEL & 0.00 1.19 0.00 0.30 0.36 0.00 025 ¢+ =<0. 66 o > o o o o
s ( A]'/E il . EHPERZ1E2 7> F 0.46 0.47 0.69 0.49 0.71 0.00 054 | §# <0.97 o o ° o o o
. )ﬂ B R EHRE<1EL S 5.56 0.00 0.00 - 0.00 - 069 | § + <0.51 > o o o - >
SHBEF=1E2 7 F 4.44 1.79 0.78 - 0.00 - 136 | f w» =0.82 > > o o - >
AR |[BHBRE<IEL» F - - i - - - N =<0.00 - - - - - -
BRBEF1E2»- & - 2.56 0.00 0.00 0.00 - 069 | f+ =1.00 - > o o - o
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JBHDL s 545§ KR s F 9 39 (Albumin)

FER 3 &l 23t | & | & | H& | 8F | ®& | /h&F

10445/ N2t |Pepneg 167 81 121 104 117 18 608
Albumin-f & [ 98.66%| 99.39%| 99.20%| 99.01%| 99.06%| 98.37%| 99.37%
Albumin(BCG)ZZ #f 159 76 111 100 116 17 579
Albumin(BCG)E#51{H 3.9044] 3.8574] 3.8984] 3.9009] 3.8448|] 3.9092| 3.8837
Albumin(BCG)=3.5F 5tk | 94.44%| 93.39%| 94.11%| 94.50%| 93.46%| 91.98%| 94.03%
Albumin(BCP)Z7 %5 17 11 17 12 5 3 65
Albumin->F-15{E (BCP) 3.4823] 3.4103] 3.3515] 3.5594] 3.2502] 3.4646] 3.4314
Albumin(BCP)=3.0 H47EE | 93.44%| 90.67%| 92.13%| 94.89%| 83.33%| 94.85%| 92.86%

10551 |FepTE 161 76 118 99 117 16 587
Albumin-f & L% 95.84%| 97.05%| 98.78%| 96.86%| 98.44%| 90.90%| 97.27%
Albumin(BCG)% ¥ 155 71 107 95 116 15 559
Albumin(BCG)F#51{H 3.9016] 3.8468] 3.8950] 3.9146] 3.8455| 3.9806] 3.8848
Albumin(BCG)=3.5F 5tk | 89.77%| 87.02%| 89.18%| 90.45%| 87.30%| 91.13%| 88.90%
Albumin(BCP)Z: 5 6 5 11 5 1 1 29
Albumin->F-15{E (BCP) 3.3250] 3.4143] 3.3568| 3.7377] 3.1877] 3.1816] 3.3828
Albumin(BCP)=3.0 H47EE | 84.46%| 79.92%| 85.85%| 93.47%| 73.68%| 74.76%| 84.82%

105522 |FepTE 166 77 119 99 117 16 594
Albumin-f & L% 97.60%| 92.83%| 98.68%| 96.82%| 98.79%| 91.51%| 97.14%
Albumin(BCG)% ¥ 159 72 109 95 116 15 566
Albumin(BCG)E#51{H 3.9002] 3.8629] 3.8938| 3.8932| 3.8382|] 3.9368] 3.8807
Albumin(BCG)=3.5" 55tk | 89.61%| 88.08%| 88.13%| 89.78%| 87.30%| 90.53%| 88.70%
Albumin(BCP)Z: £ 7 5 10 5 1 1 29
Albumin->F-15{E (BCP) 3.5270] 3.4958] 3.3666] 3.8023| 3.2357] 3.3104] 3.4724
Albumin(BCP)=3.0 H47EE | 89.31%| 84.19%| 86.13%| 94.43%| 76.79%| 83.02%| 87.45%

105532 |FepTE 154 74 121 101 118 18 586
Albumin-f & L% 91.26%| 89.98%| 98.64%| 98.79%| 98.89%| 98.11%| 95.46%
Albumin(BCG)% ¥ 148 68 111 97 117 16 557
Albumin(BCG)E#51{H 3.9226] 3.8691] 3.9152] 3.8927] 3.8642|] 3.9450] 3.8969
Albumin(BCG)=3.5"F45EE | 90.05%| 88.51%| 89.11%| 89.90%| 88.79%| 89.68%| 89.36%
Albumin(BCP)Z: 5 6 6 10 7 1 2 32
Albumin->F-15{E (BCP) 3.5807| 3.4964] 3.3777] 3.8126] 3.2589] 3.2297] 3.4883
Albumin(BCP)=3.0 H47EE | 89.87%| 85.86%| 87.35%| 96.09%| 85.71%| 78.91%| 88.35%
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FAEHD] R S47 ¥ £ R - v 39 (Albumin)

FER Fra PR B2 | BT | IRk | BE2hr

10445/ NaF |Pepneg 19 74 154 361
Albumin-fg & [ 98.34%|  98.85%| 99.04%| 99.12%
Albumin(BCG)ZZ & 18 64 138 359
Albumin(BCG)F#51{H 3.8757 3.8792 3.8486 3.8999
Albumin(BCG)=3.5 H4rkE 92.99%| 93.03%| 91.68%| 94.95%
Albumin(BCP)Z: 5 3 13 25 24
Albumin->F-15{E (BCP) 3.5182 3.3883 3.4262 3.5896
Albumin(BCP)=3.0 5 47EE 95.60%| 91.41%| 92.33%| 96.15%

1055512 | 19 73 147 348
Albumin-fg & L% 98.78%|  95.92%| 96.78%| 97.58%
Albumin(BCG)ZZ & 18 64 132 345
Albumin(BCG)E#51{H 3.8644 3.9070 3.8610 3.8875
Albumin(BCG)=3.5 &5 47Eh 87.90%| 88.69%| 86.80%| 89.94%
Albumin(BCP)Zz 8] 1 9 15 4
Albumin->F-15{E (BCP) 3.3748 3.3072 3.4467 3.5597
Albumin(BCP) = 3.0 H47Eh 87.11%| 83.83%| 85.15%| 87.56%

105522 |FepTE 19 74 147 354
Albumin-fg & [H% 98.67%| 97.49%| 94.59%| 97.46%
Albumin(BCG)ZZ & 18 64 132 352
Albumin(BCG)E#51{H 3.9043 3.8995 3.8591 3.8753
Albumin(BCG)=3.5 547tk 88.69%| 88.38%| 86.90%| 89.47%
Albumin(BCP)Z: 5 1 10 15 3
Albumin->F-15{E (BCP) 3.4363 3.4665 3.4736 3.6361
Albumin(BCP) = 3.0 H47Eh 88.73%| 87.74%| 87.11%| 83.87%

105532 |FepTE 19 75 145 347
Albumin-fg & [H% 98.77%| 94.89%| 93.05%| 95.81%
Albumin(BCG)% ¥ 18 66 129 344
Albumin(BCG)E#51{E 3.8850 3.9072 3.8662 3.9050
Albumin(BCG)=3.5 547tk 88.33%| 88.58%| 86.97%| 90.73%
Albumin(BCP)Zz 8] 1 9 16 6
Albumin->F-15{E (BCP) 3.4142 3.4996 3.4756 3.6025
Albumin(BCP) = 3.0 H47Eh 88.97%| 88.97%| 87.47%| 88.95%

st

LRI © (R A R RN RL -

2ENRNEE - PR ENT(E B R05) KA BT AT E S VPN L EAg R ERHE -

ATEREA
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Albumin(BCGE) N - 151Z4R5% « = ¢
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FaHD2 s i E 4T AR § 51725 -URR

FER gyl =un b H & B & =5 E /et

1045/t [FFrE 167 81 121 104 117 18 608
URR-fg & bE% 98.57%| 99.07%| 98.61%| 98.97%| 98.98%| 98.31%| 99.21%
URR-FH{H 75.4746] 75.6802] 74.5939] 74.6092] 74.3221| 73.9374] 74.9397
URRZ=65%E 5L | 98.82%| 98.69%| 98.88%| 98.90%| 98.76%| 98.73%| 98.85%

I ES R 162 75 118 99 117 16 587
URR-fg & EE% 95.78%| 96.11%| 98.26%| 96.85%| 98.15%| 90.77%| 96.95%
URR-FH5{H 75.2994) 75.7473] 74.6734] 74.5931] 74.4131] 73.8618] 74.9251
URRZ=65%E 5L | 96.40%| 96.39%| 96.83%| 97.06%| 96.50%| 96.27%| 96.61%

I TES R 167 77 118 99 117 16 594
URR-fg & EE% 97.65%| 93.40%| 98.16%| 96.77%| 98.66%| 91.27%| 97.11%
URR-FH5{H 75.9015] 75.9217] 74.9777] 75.3709] 74.9446| 74.5403| 75.4242
URRZ=65%E 5L | 97.00%] 96.88%| 97.16%| 97.35%| 97.17%| 96.92%| 97.11%

I RE R 155 74 121 101 118 18 587
URR-fg & EE% 91.35%| 90.65%| 98.63%| 98.72%| 98.77%| 98.05%| 95.55%
URR-FH5{H 76.0626] 76.1237] 74.9806] 75.3199] 74.7360] 74.1321] 75.4235
URRZ=65%E 5L | 96.94%| 97.30%| 97.14%| 97.54%| 97.02%| 96.26%| 97.13%
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FaHD2 s i E 4T AR § 51725 -URR

FER Fra PR BeEd | BBk | WEER | BEZh

1045/t [FRFrE 19 74 154 361
URR-fg & EE% 98.21% 98.68% 98.28% 99.08%
URR-FH{H 74.5473 74.9538 75.0604 74.9613
URR =65% 7 5 47EE 98.51% 98.39% 98.56% 99.05%

10551 |FepTE 19 73 147 348
URR-fg & EE% 98.58% 95.77% 95.70% 97.48%
URR-FH{H 74.3311 75.0812 74.8607 74.9951
URR =65% 2 5 47EE 95.76% 96.47% 96.23% 97.00%

10575822 | 19 74 147 354
URR-fg & EE% 98.56% 97.38% 94.76% 97.39%
URR-FH5{H 74.5591 75.2158 75.4654 75.6898
URR =65% 2 5 47EE 96.25% 96.64% 97.12% 97.51%

105532 |FepTE 19 75 146 347
URR-fg & EE% 98.61% 94.74% 93.92% 95.75%
URR-FH{H 74.8571 75.5134 75.3685 75.5184
URR =65% 2 5 47EE 96.61% 96.91% 96.94% 97.42%
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Jo HBHD3 i e i 4

i tea-Hb

FEE gl Vil &b JL& i A B =R & INET
10425 2T |op g 167 81 121 104 117 18 608
Hb-F & Lo 98.78%| 99.43%| 99.27%| 99.18%| 99.24%| 98.37%| 99.50%
Hb—F B 10.5071] 10.4700] 10.5391] 10.4979] 10.5886] 10.3928] 10.5193
Hb>8.5¢/dL B0 EE | 98.40%| 98.47%| 93.48%| 98.81%| 98.01%| 97.08%| 98.59%
10525 1 |ephL 161 76 118 99 117 16 587
Hb-F & Lo 96.50%| 97.16%| 99.10%| 96.99%| 98.71%| 91.42%| 97.63%
Hb-F B 10.4163] 10.3575] 10.3962] 10.4370] 10.5492] 10.3994] 10.4340
Hb>8.5¢/dL B0 tE | 93.48%| 93.70%| 93.58%| 94.32%| 95.16%| 93.10%| 94.01%
105522 |epL 166 77 119 99 117 16 504
Hb-F & L 98.15%| 93.60%| 99.07%| 96.86%] 99.08%| 92.13%| 97.57%
Hb-F B 10.7209] 10.4617] 10.5093] 10.5007] 10.6429] 10.4388] 10.5850
Hb>8.5¢/dL B0 EE | 94.29%| 93.89%| 94.18%| 94.63%| 95.49%| 94.42%| 94.52%
1055832 |Goiek 155 74 121 101 118 18 587
Hb-F & Lo 9237%| 90.16%| 98.86%| 99.10%] 99.21%| 98.67%| 95.99%
Hb—F B 10.5933] 10.5240] 10.5831] 10.6054] 10.6972] 10.5315] 10.6034
Hb>8.5¢/dL B0 EE | 95.00%| 95.21%| 94.55%| 95.47%| 96.15%| 94.51%| 9527%
figet -

LERACR © fERa R FRG TR TR -
2ERHEEE  PYER RSB AT R E VPN e ba g -

3AFEH

(WERELER=7T 87 A HIEHD AN BASMEMURIETR AR - F8EERSE 5 0 1964 ~ 51 1994 -

Q)= F HD R B (B S/ DR BRI A0 5 - JEHARS% - %5 ¢ 2037 - 421 2058 -
(3)>8.59/dL 7 ET 3 b= RH AR Hb>8, Se/dL > AU H e i A IR HD A - SSm4RSE © 55 ¢ 1966 ~ 47 1 1996 -
¢ CIBMEBHT A | T ¢ RS HEISE - e R TR -
SRR EAEREZ (LB B 2B R TE B M A e )
RIS R 02 TS » BRI RATHod i
4. 8B43R HHH: 106/01/11
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45 D3 s % 545 & -Hb

FER Fra PR B2 | EEER | wEER | EE2nh

1045/t [FRFrE 19 74 154 361
Hb-fg 5 [L% 98.64% 99.03% 99.25% 99.22%
Hb-F15{H 10.6253 10.6217 10.4634 10.4746
Hb>8.5g/dL> FH47EL 98.60% 98.57% 97.97% 98.51%

10551 |FepTE 19 73 148 347
Hb-fg a5 [L% 99.22% 96.11% 97.22% 97.94%
Hb-F5{H 10.5627 10.5184 10.3775 10.3922
Hb>8.5g/dL> & 47EE 95.59% 94.32% 93.10% 93.91%

10575822 | 19 74 148 353
Hb-fg 5 [L% 99.02% 97.48% 95.62% 97.87%
Hb-F5{H 10.5726 10.5870 10.4735 10.6270
Hb>8.5g/dL> FH47EL 95.37% 95.07% 93.15% 94.60%

105532 |FepTE 19 75 146 347
Hb-fg 5 [L% 99.07% 95.25% 94.56% 96.05%
Hb-FH5(H 10.5901 10.7066 10.5444 10.5823
Hb>8.5g/dL> FH47EL 95.13% 95.78% 94.29% 95.43%
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I tRHDS SR EAT_BTRRE <JlE 2  F

FF 53 Bl &d6 | i | 1& | & | &5 | RE | /et
10255/ Ne T |EEATHSR <1 2 FE T A B 332 195 201 158 189 34] 1,082
BT <1 2 4895 A HE | 31,401 16,388] 19,360] 17,908] 19,447] 3,147| 106,499
AT <1AE 2 JE T 1.0572] 1.1898] 1.0382] 0.8822] 0.9718] 1.0803] 1.0159
1035E/ et |PEATHE <12 R T A 341 178 201 178 171 29] 1,082
BT <1 AE 2 4895 A HE | 31,808 16,790] 19,717] 17,433] 19,135] 3,051} 106,703
AT <1AE 2 SR T 1.0720] 1.0601] 1.0194] 1.0210] 0.8936{ 0.9505] 1.0140
10455/ Ne T PETHRRE< 12 FE T A B 338 182 211 204 176 36 1,118
BT <12 4898 A HE | 32,841 17,183 21,407] 18,026] 18,913] 2,971 110,052
AT <15E 2 SR T 1.0292] 1.0591] 0.9856] 1.1316] 0.9305] 1.2117] 1.0158
105TE 512 BT fE< 1 2 3R T A 88 31 62 46 54 7 284
BT <15 2 4895 A\ H B 8,577) 4,352] 5,489 4,780] 4,745 843] 28,421
AT <1AE 2 SR T 1.0259] 0.7123] 1.1295] 0.9623] 1.1380] 0.8303] 0.9992
1055EE522 IEMTHE <1 2 FE T A B 68 35 33 53 38 8 231
BT <15 2 4895 A H B 8,764 4,377 5,606] 4,891 4,813 918] 29,082
BT <1AE 2 JE T 0.7759] 0.7996] 0.5886] 1.0836] 0.7895] 0.8714] 0.7943
1055E 5532 [IEMTHE <1 2 R T A 63 41 42 38 38 10 230
Lﬂ‘ﬁﬂjnf'gﬁdflizi PNEE 8,608] 4,445] 5,482] 4,826] 4,800 900] 28,779
AT <1AE 2 SR T 0.7318] 0.9223] 0.7661] 0.7874] 0.7916] 1.1111] 0.7991
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fRID5 BT SR <lE2 o %

FE &P BeEd) | BEEElRR | #EElR | EE2mh
10245/ et BEMTHE <1 2 35T A8 107 348 322 464
BATHE <1 5F 2 480 A H 10,315 29,931 24,089 44,898
BRI <14 2 JE T2 1.0373 1.1626 1.3367 1.0334
10345/ Nt PEMIRR <1 FET A8 94 350 341 459
BATHE <1 5F 2 480 A H 10,629 29,891 24,546 44316
BRI <14E 2 FE T2 0.8843 1.1709 1.3892 1.0357
10445/ st BEMTHERS< 12 350 A8 121 331 362 477
BATHE <1 5F 2 480 A H 10,831 30,964 24,556 46,496
BRI <14E 2 FE T2 1.1171 1.0689 1.4741 1.0258
10545812 AR <1 E IR T A8 31 64 75 130
BATHE <1 5F 2 480 A H 2,954 7,956 5,996 12,317
BN <1 5E 2 SE TR 1.0494 0.8044 1.2508 1.0554
1054E5822 AR <1 IR T A8 18 56 62 105
BATHE <1 5F 2 480 A H 3,106 7,841 6,034 12,869
BRI <14 2 FE T2 0.5795 0.7141 1.0275 0.8159
1054E5532F [iEMTHEEI< 1 2SR T A8 17 65 67 92
BATHE <1 5F 2 480 A H 3,077 7,600 5,828 12,909
BRI <14E 2 FE T2 0.5524 0.8552 1.1496 0.7126
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DD xR EAT BATRERE JIE 2 F

iER R pan Yl g2t | JtE | H& | H&E | &8 | & | /&t
10255/ et B2 BT I <1 AE 2 5B T- A 47 5 24 7 17 8 107
TR R < 145 2 459 A B 4233 1,168] 1,674 909 2,005 335| 10,315

BTG E<1 4 2 SE TR 1.1103] 0.4280] 1.4336] 0.7700] 0.8478] 2.3880| 1.0373

iR EERE AN <12 SR T A8 94 76 77 46 46 11 348
BEATHE S < 1 4F 2 480 A B 7,555 4,841 6,058] 5,951 4,781 816| 29,931

BT <14E 2 FE T 1.2442] 1.5699] 1.2710] 0.7729] 0.9621] 1.3480| 1.1626

HE Bl EMNTIE R <1 SR A8 98 73 48 34 58 12 322
TR R < 145 2 459 A B ] 6,460 5,525 5,150 2,677 3,623 716| 24,089

BTG E<1 4 2 SE TR 1.5170] 1.3212] 0.9320] 1.2700] 1.6008| 1.6759] 1.3367

g2 hT BN <1 25T B 139 65 81 87 88 6 464

ETIRE <1 455% A B8 | 13,734] 5,098] 6,855] 8.634] 9,442| 1,413 44,898

BT <1 2 FE T 1.0120] 1.2750] 1.1816] 1.0076] 0.9320] 0.4246| 1.0334
10345/ N\at B2 BT I <1 AE 2 3B T- A 50 6 14 8 12 4 94
TR R < 145 2 459 A B 4,570 896] 1,738 876] 1,992 562| 10,629

BTG E<1 4 2 SE TR 1.0940] 0.6696] 0.8055] 0.9132] 0.6024] 0.7117] 0.8843

iR EERE AN <12 SR T A8 89 66 80 63 41 11 350

BT < 1 4F 2 480 A B 84 7,578 4,978] 6,186 5,815 4,483 921] 29,891

BT <14E 2 FE T % 1.1744] 1.3258] 1.2932] 1.0834] 0.9145] 1.1943| 1.1709

Bl EMTHR R <1 E 27 SR T A8 91 66 61 51 60 13 341
TR R < 145 2 459 A B 6,241 5919 4,964] 2,895 3,911 701] 24,546

BTG E<1 4 2 SE TR 1.4580] 1.1150] 1.2288| 1.7616| 1.5341] 1.8544] 1.3892

Hig2 i A< IR A8 160 62 76 79 77 0] 459
ETIER <1 455% A B8 | 13,970] 5,252 7,199] 8,115] 9,163 954| 44,316

BT <14E 2 FE T 1.1453] 1.1805] 1.0557] 0.9735] 0.8403] 1.0482] 1.0357

1044E/N\a1 |88, BEMTIERE <12 SR A8 53 9 23 7 22 7 121
BT R < 145 2 459 A B 3,886 792 2,396 1,041 2,204 529] 10,831

BTG E<1 4 2 SE TR 1.3638] 1.1363| 0.9599] 0.6724] 0.9981] 1.3232] 1.1171

iR EERE AN <12 SR T A8 102 57 59 65 41 9 331
BEATHE S < 1 4F 2 480 A B 8 8,236| 5,167 6,094] 6,078] 4,580 884 30,964

BT <1E 2 FE T 1.2384] 1.1031] 0.9681| 1.0694] 0.8951] 1.0180] 1.0689

Bl EMTHR R <1 F 227 SR T A8 83 80 75 62 50 14 362
TR R < 145 2 459 A B 55101 6,208 5,772 3,047 3.453 657| 24,556

BTG E<1 4 2 SE TR 1.5063] 1.2886| 1.2993| 2.0347] 1.4480] 2.1308| 1.4741

Hig2 i A< IR A8 159 55 88 88 86 11 477
EITIR R <142 455 A B8 | 15,885 5,256 7,530] 8,089] 9,087 988| 46,496

BT <14E 2 FE T % 1.0009] 1.0464] 1.1686] 1.0878| 0.9464] 1.1133] 1.0258

105AE55 12 B2y BRI EI< 1 4R 2 SR T A3 14 1 10 3 3 0 31
TR R < 145 2 459 A B ] 1,188 176 684 242 539 133 2,954

BTG E<1 4 2 SE TR 1.1784] 0.5681] 1.4619] 1.2396] 0.5565] 0.0000] 1.0494

EIR BT AT R <1 2SR T A B 22 4 17 11 7 3 64

BT < 1 4F 2 480 A B # 2,111 1,327 1,487 1,622 1,155 282 7,956

BT <14E 2 FE T % 1.0421] 0.3014] 1.1432] 0.6781] 0.6060] 1.0638| 0.8044

HEEERT ENTHH <1 2R T AEL 15 17 15 14 12 2 75
BT R < 145 2> 459 A B 1,294 1,579] 1,423 659 839 220] 5,996

BTG E<1 4 2 SE TR 1.1591] 1.0766| 1.0541| 2.1244] 1.4302] 0.9090] 1.2508

FJE2hT BN <1 25T AE 42 10 25 20 32 3 130

BT < 1 4F 2 480 A B #4 4,186 1,337 1,997 2,325 2,339 235| 12,317

BT <14E 2 FE T 1.0033| 0.7479] 1.2518] 0.8602| 1.3681] 1.2765| 1.0554

10555522 B2y BRI <1 £ 2 3R T AL 6 1 6 2 2 1 18




ENTHR <12 485% A\ B 8% 1,272 169] 711 228] 578 152] 3,106

BT R<14E 2 JET % 0.4716] 0.5917] 0.8438] 0.8771] 0.3460] 0.6578| 0.5795

EIK BT AT R <1 2SR T AEL 16 6 7 13 10 5 56
ENTHE R <1452 4855 A H 8 2,009 1,317) 1,527] 1,522] 1,118] 298] 7,841

ENTHF <12 IR R 0.7733] 0.4555] 0.4584] 0.8541] 0.8944] 1.6778| 0.7141

@B BT E<14E 2 3BT A B 8 18 8 14 14 0 62
TSR <145 88 A F B 1,264 1,600] 1,396] 705 832]  246] 6,034

BT R <14 2 JET % 0.6329] 1.1250] 0.5730] 1.9858] 1.6826] 0.0000] 1.0275

FJE2hT BN <1 25T AE 39 10 14 25 13 4 105
ENTHE R <1452 8855 A\ H 8 4,339 1,346] 2,076] 2,523 2.411 245] 12,869

ENTHF <12 IR R 0.8988] 0.7429] 0.6743] 0.9908] 0.5391] 1.6326] 0.8159
105533 B0y BT EI<14E 2 3B T A8 5 1 | 2 | 1 17
ENTHR <1 FE2 485% A\ B 8% 1,285 144 720  238] 578 117 3,077

BT R <142 JET % 0.3891] 0.6944] 0.5555] 0.8403] 0.6920| 0.8547| 0.5524

EIR BT AT R <1 2 5E T AEL 17 21 8 6 9 4 65
ENTHE R <1452 885 A\ H 8 1,964] 1,403] 1,432 1,422 1,004  304] 7,600

BN E<1EE 2 IR R 0.8655] 1.4967] 0.5586] 0.4219] 0.8226] 1.3157] 0.8552

el BN RLI<1 2300 A8 11 13 20 12 8 3 67
ENTHR <1 EE 2 485% A\ B 8% 1,133 1,537] 1,389 720  813] 250 5.828

BT R<14E 2 RT3 0.9708] 0.8458| 1.4398] 1.6666] 0.9840] 1.2000] 1.1496

g2 hT BN <1 25T AE 33 8 13 18 17 3 92
ENTHE R <1452 885 A\ B8 4373 1,412] 2,036] 2,498 2.406]  255| 12,909

BN <12 IR R 0.7546] 0.5665| 0.6385] 0.7205] 0.7065] 1.1764] 0.7126
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FARHDS RS SRR = 1E 2

3:

HEF pan il =it | dE& | 7& | & | &F | £& | /st
L1024E/ et PEMHER = 12 3R T A8 1,761 866 1,108 1,065 1,177 156] 5,962
BATISR = 14E 2 489 A B8 | 175,513 93,272] 120,571] 109,848 125,614] 15,950] 631,856
BTG = 145 22 SE L& 1.0033] 0.9284] 0.9189] 0.9695] 0.9369] 0.9780] 0.9435
1034E/N\aF  PEMTISRT = 14 27 3ET A8 1,839 916] 1,229] 1,177 1,183] 199 6,352
BATHSR = 14E 2 480 A H 8 | 182,022] 97,233] 124,341] 112,786] 129.316] 17,034] 653,764
BTG = 14 2 3E T = 1.0103] 0.9420] 0.9884] 1.0435] 0.9148| 1.1682] 0.9716
L044E/ Nt EMHSR = 122 36T A8 1,886 925  1,252] 1,086 1,261 200 6,409
IBATISR = 14E 27 48955 A H | 189,806] 102,066] 128,140 116,369| 132,878] 17,479 677,729
BTG = 14E 22 SE L& 0.9936] 0.9062| 0.9770] 0.9332] 0.9489] 1.1442] 0.9456
1054F 5128 PEMNISR = 14 27 35T A8 500 282 342 332 316 521 1,797
BT = 145 27 4895 A B 8¢ 48,519] 26,429 32,955 29,883 33,863| 4,584 173,182
BT = 14 2 JE TR 1.0305] 1.0670] 1.0377] 1.1109] 0.9331] 1.1343] 1.0376
1054E 527 PEMISRI = 1482 7 36T A8 374 209 255 249 276 38] 1,395
BT RY = 14F 27 4895 A H 8 48,882| 26,484 33,043| 29,618] 33,882 4,479| 174,095
BTG = 145 2 SE L& 0.7651] 0.7891] 0.7717] 0.8407| 0.8145] 0.8484] 0.8012
1054F 5328 PEMNISR = 14 7 3E T A8 341 215 233 228 293 35| 1,338
BT = 145 27 4895 A B 8¢ 49,355] 26,600 33,276] 29,617| 33,788| 4,568| 174,945
BTG = 14 2 3E T & 0.6909] 0.8082| 0.7002] 0.7698] 0.8671] 0.7661] 0.7648
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ApiRHDS AT _STER Z1E 2 v

FER Fra PR B2 | EEERk | #HEElk | BE2h
10255/ N\at  BEMTHER = 1822730 A8 593 1,603 1,640 2,765
IENTHERE = 14F 27 489 A & 63,640 149,831 130,435 298,425
BT = 145 27 SE T2 0.9318 1.0698 1.2573 0.9265
1035/ N\aT  BEMTEER = 1822730 A8 669 1,763 1,626 3,041
IERTHER = 14F 27 48955 A B 8 64,456 155,478 129,802 314,824
EITIFR = 14 2 3E TR 1.0379 1.1339 1.2526 0.9659
10445/ et PEMTESRE = 14E 22 9E T A8 635 1,663 1,602 3,205
IERTHER = 14F 27 48955 A B 8 66,695 159,837 134,272 327,765
ETIFR = 14 2 3E TR 0.9520 1.0404 1.1931 0.9778
1055 1 PETISRE = 1E 27550 A8 136 402 436 896
IENTHRRE = 14F 27 489 A H & 17,075 41,148 33,769 84,294
EITIFR = 14 2 3E TR 0.7964 0.9769 1.2911 1.0629
105452 EMTISE = 1427350 A8 120 341 315 674
IERTHER = 14F 27 48955 A B #) 17,151 41,310 33,484 84,729
ETIFR = 14 2 3E TR 0.6996 0.8254 0.9407 0.7954
105453 PETISE = 1E 27550 A8 118 350 284 639
IERTHER = 14F 27 48955 A B 8 17,175 41,424 33,580 85,420
IR = 14 2 3E TR 0.6870 0.8449 0.8457 0.7480
st
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tptRDS BT BT =& 2 F

EF R 5118 it | Jt& | & | EHE | 88 | & | /et
L024F/Nat |8,y BTSSR = 14 22 3R T A 267 36 100 45 107 39 593
AR = 145 2> 48955 A B8 | 25,0000 5,635] 10,929] 5,136] 14,806] 2,192] 63,640

IS = 14 2 9E T3 1.0680] 0.6388] 0.9149] 0.8761] 0.7226] 1.7791] 0.9318

&Ik EE e BT = 145 2 SE T A8 476 252 300 291 268 34] 1,603
IBNTISR = 145 2 489 A H 8 | 40,491) 23,502] 29,240] 28,465| 24,936] 3,520] 149,831

BATIER = 1 27 3E T % 1.1755] 1.0722] 1.0259] 1.0223] 1.0747| 0.9659] 1.0698

HEE . EMIGRE = 1 2350 A8 376 334 350 222 316 s56] 1,640
AR = 145 2> 4895 A B | 27,927] 33,444] 30,179] 15,634] 20,986] 2,737] 130,435

ENTHEE] = 14 2 9E 0% 1.3463] 0.9986] 1.1597] 1.4199] 1.5057| 2.0460] 1.2573

Hig2rr EMIER = 1FE 22350 A8 795 306 467 594 593 70l 2,765
iBNTISRE = 145 2 4 A H 8 | 83,521 31,533] 51,383 61,294] 66,001] 7,915] 298,425

BATIER = 14 27 3E T % 0.9518] 0.9704] 0.9088] 0.9690] 0.8984] 0.8843] 0.9265

1034F/Nat |8,y BTSSR = 14 22 3R T A B 298 42 139 50 92 50 669
BT = 14 2 48555 A B | 25,076  6,062] 10,818] 5,227| 15,031 2,288] 64,456

BT = 1 2 JE L% 1.1883| 0.6928| 1.2848] 0.9565| 0.6120] 2.1853] 1.0379

Sk EE e BTG = 145 2 SE T A8 432 283 351 372 279 59 1,763
IBATISR = 14E 2 48 A B8 | 41,354] 25,699 29,011 29,409] 26,418] 3,946] 155,478

BATIER = 1 27 3E T % 1.0446] 1.1012] 1.2098] 1.2649] 1.0560] 1.4951] 1.1339

HEE . EMIGR = 1 2350 A8 380 325 366 249 273 451 1,626
AR = 145 2 4895 A B | 29,490] 31,481 32,302] 15,124] 19,190] 2,644 129,802

BT = 14E 2 R TR 1.2885] 1.0323] 1.1330] 1.6463]| 1.4226] 1.7019] 1.2526

Hig2rr EMIER = 1FE 22350 A8 908 332 526 602 638 98] 3,041
IBATISR = 14E 2 489 A B8 | 87,606] 34,764] 53,481| 63,782] 69,832] 8,567| 314,824

BATIER = 1 27 3E T % 1.0364] 0.9550] 0.9835] 0.9438] 0.9136] 1.1439] 0.9659

1044F/Nat |82 T,y BTSSR = 14E 22 3R T A B 300 37 113 35 111 41 635
AR = 145 2> 4895 A B | 25,835 6,495] 10,974] 5,484] 15,500 2,465 66,695

BT = 14E 22 SR % 1.1612] 0.5696] 1.0297| 0.6382| 0.7161] 1.6632] 0.9520

IR EE R AR = 1EE 23R T A8 434 303 320 284 280 48] 1,663
IBATISR = 14E 2 4 A B8 | 42,597] 26,769 29,991 30,201| 26,401] 4,182] 159,837

BATIER = 1 27 3E T 1.0188] 1.1319] 1.0669] 0.9403]| 1.0605| 1.1477| 1.0404

HEE e EMIGR = 1 2350 A8 381 323 384 218 271 40l 1,602
AR = 145 2 48955 A B | 29,690] 34,186] 32,798] 15,811] 19,368] 2,879 134,272

BT = 12 JE L% 1.2832| 0.9448| 1.1708] 1.3787| 1.3992] 1.3893| 1.1931

Hig2rr EMIER = 1FE 22350 A8 960 333 567 616 699 103] 3,205
IBATISRE = 145 2 49 A B8 | 93,376] 35,588] 55,504] 65,529] 72,761] 8,308| 327,765

BATIER = 1 27 3E T 1.0281] 0.9357] 1.0215] 0.9400] 0.9606] 1.2397| 0.9778

1054FE 128 8282 b, B RIS = 145 22 ST A8 57 13 26 11 22 7 136
BRI = 145 2> 48955 A H 8 6,431 1,651 2942 1,444] 3,979 647 17,075

BT = 1 2 JE L% 0.8863] 0.7874] 0.8837] 0.7617| 0.5529] 1.0819] 0.7964

&Ik EE e BT = 145 2 SE T A8 97 79 65 84 61 17 402
BNTISR = 14E 2 48 A B8 | 10,866 6,855 7,731 8,049 6,671 1,060] 41,148

BATIER = 1 27 3E T % 0.8926] 1.1524] 0.8407] 1.0436] 0.9144] 1.6037| 0.9769

HE B BT E = 1 236 T A8 94 105 106 65 63 9 436
AR = 145 2> 48955 A H 8 7,187 9,033] 8,235 3,846] 4,848 779 33,769

BT = 14E 2 R T % 1.3079] 1.1624] 1.2871] 1.6900] 1.2995] 1.1553] 1.2911

Hig2rr EMIER = 1FE 22350 A8 277 94 161 177 176 22 896
IBNTISR = 14E 2 48 A B8 | 24,455 9,128] 14,353 16,701] 18,646] 2,187 84,294

BATIER = 1 27 3E T % 1.1326] 1.0297] 1.1217] 1.0598] 0.9439] 1.0059] 1.0629




105FEEE2 2R B8 B2y [T = 14F 23R T B 45 9 22 9 27 8 120
BT = 14F 2 4805 A H # 6,373 1,642] 3,054] 1.464] 3,973 666] 17,151

ENTHEE] = 14 2 9E T3 0.7061] 0.5481] 0.7203] 0.6147| 0.6795] 1.2012] 0.6996

&I EE e BT = 145 22 SE T A8 72 74 70 66 54 5 341
IBATISRE = 14E 2 48 A B8 | 10,935] 6,887 7,759 8,051] 6,719] 1,038] 41,310

BATHSR = 14E 2 SET % 0.6584] 1.0744] 0.9021] 0.8197| 0.8036] 0.4816] 0.8254

Ml B P BT = 14E 2 5E T A B 70 71 69 47 51 8 315
BT = 14F 27 480 A H 8 7,008] 8,992 8.256] 3,820] 4,772 771| 33,484

NI = 14 2 JE T2 0.9988] 0.7895] 0.8357| 1.2303| 1.0687] 1.0376] 0.9407

Hig2rr EMIER = 1FE 22350 A8 201 64 106 133 150 22 674
ENTHERE = 14E 2 485 A F 8 | 24,961 9,160] 14,239] 16,429] 18,705 2,115 84,729

BATHSR = 14E 2 SE T % 0.8052] 0.6986] 0.7444] 0.8095] 0.8019] 1.0401] 0.7954
105FEEE3 2R B B2 by [T = 14F 23R T B 47 8 23 6 28 6 1138
BT = 14F 2 4805 A H # 6,401 1,610] 3,082] 1.450] 3,975 678] 17,175

NI = 14 2 9E T3 0.7342] 0.4968] 0.7462] 0.4137| 0.7044] 0.8849] 0.6870

EIKEE R BT = 1EE 23R T A8 76 66 72 60 65 12 350
BNTISR = 14FE 2 48 A B8 | 11,013]  6,899] 7,803 8,133] 6,597] 1,043| 41,424

BATHSR = 14E 2 SET % 0.6900] 0.9566] 0.9227] 0.7377] 0.9852] 1.1505] 0.8449

Ml B P BT = 14E 2 5E T A B 55 77 51 36 58 8 284
BT = 14F 27 4805 A H # 6,820] 9,112] 8,328] 3,825 4.811 798| 33,580

ENTHEE] = 14 2 9E T 0.8064| 0.8450] 0.6123] 0.9411| 1.2055] 1.0025] 0.8457

Hig2rr EMIER = 1FE 22350 A8 183 68 95 132 152 12 639
IBATISRE = 14E 2 48 A B8 | 25,598 9,187] 14,343 16,339] 18,680] 2,149] 85,420

BATHSR = 14E 22 SET % 0.7148] 0.7401] 0.6623] 0.8078| 0.8137| 0.5583] 0.7480

fhst
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ipHEPD1 AT F &K G- 9 k-9 (Albumin)

HEF pan il &it | & HE | HE = | K& /Nat
1045/ Nxt  [FerreEy 28 21 27 19 17 5 117
Albumin-f 2 FH3% 99.51%| 100.00%| 99.93%| 99.53%| 99.68%| 100.00%| 99.69%
Albumin(BCG)Z # 23 19 18 19 17 5 101
Albumin(BCG)-EH51E 3.6957] 3.8071| 3.7434] 3.7063| 3.7249] 3.6862| 3.7265
Albumin(BCG)=3.57 H47EE | 86.56%| 90.69%| 88.94%| 87.41%| 88.06%| 82.61%| 87.93%
Albumin(BCP)Z7 8 6 2 9 3 0 1 21
Albumin->F}5{E (BCP) 3.2085] 3.1733| 3.2935| 3.1385| 0.0000] 3.0691| 3.2299
Albumin(BCP)=3.07 5457k | 85.53%| 96.15%| 90.48%| 81.72%| 0.00%| 77.78%| 86.44%
1055512 |Bepr 26 20 27 19 15 4 111
Albumin-fg 2 FH3% 99.22%| 100.00%| 99.24%| 98.91%| 99.26%| 99.11%| 99.28%
Albumin(BCG)Z # 20 18 18 19 15 4 94
Albumin(BCG)EH51E 3.7147]  3.8391| 3.7419] 3.7291| 3.7698] 3.7653| 3.7502
Albumin(BCG)=3.57 FH57EE | 76.52%| 84.71%| 79.89%| 80.24%| 81.37%| 81.98%| 79.87%
Albumin(BCP)Z7 8 6 2 9 0 0 0 17
Albumin->F5{E (BCP) 3.2466] 3.1941] 3.2660] 0.0000] 0.0000] 0.0000] 3.2524
Albumin(BCP)=3.07 547k | 81.19%| 77.27%| 82.55%| 0.00%| 0.00%| 0.00%| 81.60%
1054E527R [[=FrE 28 17 27 19 15 4 110
Albumin-f§ 2 FH3% 99.24%| 97.13%| 98.91%| 98.86%| 99.18%| 99.13%| 98.85%
Albumin(BCG)Z # 22 15 18 19 15 4 93
Albumin(BCG)-EH51E 3.7001| 3.8311] 3.7188| 3.7220| 3.7453| 3.7434] 3.7336
Albumin(BCG)=3.57 FH57EE | 75.69%| 84.44%| 78.65%| 78.84%| 76.07%| 77.19%| 77.96%
Albumin(BCP)Z7 8 6 2 9 0 0 0 17
Albumin->F}5{E (BCP) 3.2972]  3.3158] 3.1749] 0.0000] 0.0000] 0.0000] 3.2473
Albumin(BCP)=3.07 547kt | 79.75%| 84.21%| 76.57%| 0.00%| 0.00%| 0.00%| 78.58%
1054E53 7R [[=FrE 27 18 27 19 14 3 108
Albumin-f 2 FH3% 91.15%| 98.54%| 99.14%| 99.06%| 98.66%| 99.14%| 96.23%
Albumin(BCG)Z # 22 16 18 19 14 3 92
Albumin(BCG)EH51H 3.6948] 3.8089] 3.7086| 3.7636| 3.7396] 3.7795| 3.7350
Albumin(BCG)=3.57 F457EE | 73.53%| 84.16%| 79.01%| 80.89%| 79.95%| 83.48%| 78.65%
Albumin(BCP)Z 5 2 9 0 0 0 16
Albumin->F5{E (BCP) 3.2633] 3.2105|] 3.2266] 0.0000] 0.0000] 0.0000] 3.2464
Albumin(BCP)=3.07 547k | 78.32%| 78.95%| 79.57%| 0.00%| 0.00%| 0.00%| 78.85%

s

LERACH © fEIRE B RGBT 288 -
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(DI EER=77 BHE AR Albumin A\SB/ASMERBUENTH AL - FEEmS: - & ¢ 1957 ~ & 1985 -

(2) 5 {E = i Albuminta 53 (E =~ ZEF1/FH i Albuminfa Ba (E K207 FEEEER] - $515455% © 2= * BCG © 2034 ~ BCP @ 2035 ~ 4% :
(3)(BCGHEERE) = 3,55 43 Eb=20 BHE AHIE Albumin(BCG;%) = 3.5gm/d1 A\ /18 MR8 B EHTH AHIE Albumin(BCGE) A% - #5154
(4)(BCPH&ERE) = 3.0 47 Eb=57 B1% AHIE Albumin(BCP;Z%) = 3.0gm/d122 A B5/48 MEHE B EAT AHIE Albumin(BCPiE) A% - 51845
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FAEPDL e g

AT

§ 4k G- iF v 39 (Albumin)

FE &P B2 | EEERk | #HEElk | BEE2h

1045/ N2 F b 19 67 19 12
Albumin-fg & L% 99.72% 99.63% 100.00% 100.00%
Albumin(BCG)Z & 18 58 13 12
Albumin(BCG)F5{H 3.7173 3.7352 3.7871 3.7578
Albumin(BCG)=3.5 B 47Eh 86.88% 88.54% 93.41% 95.52%
Albumin(BCP)Zz £ 2 11 6 2
Albumin-F-5{8 (BCP) 3.3153 3.2163 2.9867 3.9429
Albumin(BCP) = 3.0 H47Eh 89.72% 86.64% 68.42% 100.00%

NI ESI G 19 68 15 9
Albumin-fg & L% 99.67% 98.90% 97.14% 100.00%
Albumin(BCG)Z 18 58 9 9
Albumin(BCG)F5{H 3.7413 3.7577 3.8368 3.7824
Albumin(BCG)=3.5 H45EE 78.30% 81.65% 86.67% 86.27%
Albumin(BCP)Zz £ 1 10 6 0
Albumin-F-5{8 (BCP) 3.3173 3.2737 2.9329 0.0000
Albumin(BCP) = 3.0 H47Eh 85.71% 82.96% 58.00% 0.00%

1058527 |FRprE 19 68 15 8
Albumin-fg & 1% 99.17% 99.09% 90.76% 94.12%
Albumin(BCG)Z 18 58 9 8
Albumin(BCG)F5{H 3.7403 3.7169 3.8704 3.7604
Albumin(BCG)=3.5 B 47Eh 77.60% 77.97% 86.61% 81.25%
Albumin(BCP)Zz 8] 1 10 6 0
Albumin-F-5{8 (BCP) 3.1804 3.3158 3.0087 0.0000
Albumin(BCP) = 3.0 B 47 1L 76.79% 82.02% 61.82% 0.00%

105253 |FRErE 19 65 16 8
Albumin-fg & 1% 99.32% 92.22% 99.47% 86.96%
Albumin(BCG)Z & 18 56 10 8
Albumin(BCG)F5{H 3.7410 3.7225 3.7833 3.7575
Albumin(BCG)=3.5 H47EE 77.65% 79.85% 81.95% 85.00%
Albumin(BCP)ZZ 84 1 9 6 0
Albumin-F-5{8 (BCP) 3.2506 3.2817 3.0045 0.0000
Albumin(BCP) = 3.0 B 47 1L 80.86% 80.76% 60.38% 0.00%

sy
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AEEREA
(g L= R0 AHI & Albumin A\ /8 MERE B BT A B - F5RE4R5% © 25 ¢ 1957 ~ 4F @ 1985 -

(2) 4 (EL=rh 3 A Loumin bR A SR/ A lbumin R BR{E ATN0 SERAART - F5HE4R5% © 55 BCG 2034 ~ BCP
2035 ~ 4 BCG: 2054 ~ BCP: 2055 -

1960 ~ 4% ¢ 1988 -

%ﬁ TEIRdmaE © & 1961 ‘5!33 1989 -

TEMEENTREA

*”%B HH: 106/01/11

SEBIFREAAT

AR AR T O R b

C LR HASET

Nﬁl

W H RSB E IR -

Q)BCGHERE) = 3.5H 47 EE=5 5155 ASHTE Albumin(BCGIE) = 3.5gm/d12 A\ E/18 MR8 B Frs ACHTE Albumin(BCGIE) A
B - 1EIERTE

(4)(BCPiEg2) = 3.0 5 43 b= BHE AJHIE Albumin(BCP;%) = 3.0gm/d12. A\ B/18 MR8 B A 1 ACHIE Albumin(BCPA) A




Ap1EPD3 MEiA47_pa e & -Hb

F£F 53 Bl git | JiE | T&E | ME | §F | EKE | /Dt
1044751 FE P 26 18 25 19 16 5 109
Hb-fa & hR 99.70%| 100.00%| 99.86%| 99.44%| 99.71%| 100.00%| 99.74%
Hb-FE{H 10.5066] 10.5924] 10.2326] 10.3363] 10.3549] 10.3453] 10.4146
Hb>8.5g/dL_~ F 77tk 97.72%| 97.32%| 97.15%| 96.80%] 96.98%| 96.23%| 97.29%
1057512 |FEATEL 24 17 26 19 15 3 104
Hb-fa & hR 99.53%| 100.00%| 99.65%| 99.31%|] 99.32%| 97.14%| 99.52%
Hb-FE{H 10.2293] 10.3356] 9.8943] 10.1291] 10.2003] 10.0294] 10.1609
Hb>8.5¢/dL 15 7tk 89.17%| 90.50%| 85.34%|] 89.07%| 89.73%| 88.24%| 88.73%
1057E5E22  |FEATEL 27 16 26 19 15 3 106
Hb-fa & hR 99.36%| 96.99%| 99.30%| 99.13%|] 98.97%| 100.00%| 98.93%
Hb-FE{H 10.3371] 10.5313] 9.9656] 10.3678] 10.3431] 10.1697] 10.3001
Hb>8.5g/dL” FH47Eh 89.79%| 92.84%| 85.82%| 92.78%) 89.79%| 90.91%]| 89.93%
1057E5E32F AT 26 16 25 19 14 3 103
Hb-fa & hR 89.84%| 99.04%| 99.09%] 99.33%| 98.46%| 100.00%] 95.72%
Hb-FE{H 10.4031] 10.3947] 10.0189] 10.2135] 10.3010] 10.2094] 10.2831
Hb>8.5g/dL” FH47EE 88.59%| 92.25%| 88.10%] 90.29%| 91.51%| 96.88%] 89.90%

et -
1 gﬂjé;ﬁ (RIRERBRGIEENT R -
BrtEiE - PYER KBTS VPN L E g & e -
AFEREA -
(1>$ﬁ§tt$:ﬁfﬁ)\/EJiHb)\§i/r MERE AT AR - FiE4maT © 2 0 1965 ~ 4F ¢ 1995 -
Q) FHE=FEHb AR ER B > 48/ B S HbAG BR (E A0 SEEEHT - FotZgmat « 2= ¢ 2038 ~ 4£ 1 2059 -
(3>>8.5g/dLZEﬁtt:ﬁTﬁkiﬂﬂ%Hb%.Sg/dLZ)\%&/r‘riﬁ’gﬁ*éuﬁﬁ NOHIEHD A%y - fERE4RST © 28 0 1967 ~ 4F 1 1997 -
TEMEENTRA ) EE B HERYET - a3 E H BRI BN EE R A -
KHEPRIEE B BB A 2 R fEm B R I E B M A I (A0 e & i)
*ARTEFEAE Ry 102 T A HE A - IR MR ZE FrHeth S A
4. BIF HEA: 106/01/11
5BUSREAL © HEEANE AR RS



$2BPD3 LS it & -HD

FF KRR B2 | B | EE | EE2

10426/ 8\31 [Befrds 19 65 16 9
Hb-fg & FE %8 99.77%|  99.67%| 100.00%| 100.00%
Hb- VI 10.4250] 10.4180] 10.3949]  9.8226
Hb>8.5¢/dL H 47 R 97.14%| 97.40%| 95.73%| 100.00%

[MEEEIE B 19 63 14 8
Hb-fg & FE %8 99.67%| 99.41%| 97.47%| 100.00%
Hb- VI 10.1700]  10.1572]  10.1833 9.6308
Hb>8.5¢/dL” 47k 88.90%| 89.10%| 84.42%| 73.08%

[REEEE e 19 65 14 8
Hb-fg & FE %8 99.18%| 99.43%| 86.90%| 96.43%
Hb- VI 10.2350] 10.3985] 10.4151 9.8926
Hb>8.5g/dL 1 457Lh 89.02%| 91.59%| 87.67%| 81.48%

[REEERE B 19 63 13 8
Hb-fg & FE %8 99.50%| 89.92%| 100.00%| 92.31%
Hb- VI 10.2437] 10.3388] 10.4788]  9.9792
Hb>8.5¢/dL F47EL 89.63%|  90.24%]  91.76%|  87.50%

ek -
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3ATEREA

(DI ELER=5 BHRE AHI EHD A B HEREIR B AL - F51E4R5% - 22 0 1965 ~ 4F ¢ 1995 ©

Q) FHE=F IR ERE > 48A1/ B S Hb IR BR (E A0 SEEEHL - Fotlgmat « 25 ¢ 2038 ~ 4F ¢
(3)>8.5g/dL 7 H 43 EE=55-B1 ACHIE Hb>8.5g/dL > A /18 e B A A A HIEHb A8 - F51E4R
 TIBMEEITR A ) B © EHE HHISRET - S EE3(E H R ENEG 2B A -
SKHERR IEAE B A BB A 2 e B R IR B M E i (i 1)
ARTEFE L Ry 1 025 Fri e » R MR B AT Het e A
4. 813 HHA: 106/01/11
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FARPD5 ST ST <1k 2 5o

;-‘_‘%:

F£F 53 Bl &d6 | JbE | f1i& | HE | &5 | }E& | st
10255/ Ne T BT EI<1 2R T AB 28 7 6 11 9 1 62
BT <15 489% AN HE 4,370 1,641] 2,886] 1,903] 2,184 256) 13,240
AT R <15E 2 JE T % 0.6407] 0.4265] 0.2079] 0.5780] 0.4120] 0.3906] 0.4682
1035/ NeT | BT EI<1 2R T AB 30 11 11 6 10 0 68
BT <15 489% AN H# 4,594 1,677 2,725 2,110} 2,359 256) 13,720
AT R <1AE 2 FE T % 0.6530] 0.6559] 0.4036] 0.2843] 0.4239] 0.0000] 0.4956
10455/ Ne T BT EI< 12 2E T AB 29 6 13 5 10 2 65
BT <15 489% N HE 5,185] 1,598] 2,589] 1,653] 2,496 279 13,798
AT R <1E 2 FE T % 0.5593] 0.3754] 0.5021] 0.3024] 0.4006] 0.7168] 0.4710
1055615 A E< V26T A 4 2 1 3 2 1 13
BT <15 2 489% AN HE 1,217 426 680 461 591 73] 3,448
AT R <15E 2 FE T % 0.3286] 0.4694] 0.1470] 0.6507] 0.3384] 1.3698] 0.3770
1054562 A E< I Z I A 4 1 3 1 1 0 10
BT <15 489 AN H# 1,200 422 692 526 605 72| 3,517
AT R <1AE 2 JE T % 0.3333] 0.2369] 0.4335] 0.1901] 0.1652] 0.0000] 0.2843
1054-553% A E< I 29T A ) 2 2 2 1 0 12
BT <15 2 489 AN HE 1,227 415 673 506 622 75| 3,518
AT R <1E 2 FE T % 0.4074] 0.4819] 0.2971] 0.3952] 0.1607] 0.0000f 0.3411
T%%E :
BRI © [EIREEERGITEE DI R4 - F51ERTE - = 1 1451 ~ 4 ¢ 1452

ZEH%EI FIRBEM (I HER05) ~ KRR

AFEREA -
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1 1RPD5 ST BT <lE2L - F
FE &P B2 | EiEEbr | WEERE | EE2hr
1025/ Nat [EMTHE <L 2SR T A B 24 38 1 0
AT <14F 2 485 A\ H 5 6,666 6,157 368 49
BT <1 4F 2 JE T % 0.3600 0.6171 0.2717 0.0000
1034/ Nat [EMTHE < L 2SR T A8 26 40 2 0
AT < 145F 2 48955 A\ H B 6,893 6,225 563 40
<12 IR TR 0.3771 0.6425 0.3552 0.0000
1045/ Na T [EMTHE < L 2SR T A8 27 34 4 0
BRI <145 2> 485% A B 7,023 6,208 531 37
BT <1 4F 2 JE T 0.3844 0.5476 0.7532 0.0000
1055E55 12 [iEMTHF <1 2 5E T A B 6 7 0 0
A ATH R <14F 2 48955 A\ H B 1,717 1,604 121 6
BRI <14 2 FE T2 0.3494 0.4364 0.0000 0.0000
1054E5527F [iEMTHE <1 2SR T A8 6 4 0 0
AT < 14F 2 48955 A\ H B 1,753 1,615 145 4
BT <1 4F 2 JE T 0.3422 0.2476 0.0000 0.0000
1054E5532F [iEMTHEEI< 1 2SR T A8 7 4 1 0
AT <145F 2 48955 A\ H B 1,793 1,580 145 0
BRI <14E 2 FE T2 0.3904 0.2531 0.6896 0.0000
s
LERACE (M Ra R MEEIN AL - F5ERESR © 0 1451 ~ 41 1492

2ERHHE ¢ PTR2 BT EFER05) ~ KERTE

3T

BT < 1FSECR= CGEHHARSEIT/ NN EZIETEZRED X 100,/ CEHEART BT/ N 142 485% A B
F L o ER BT 2 JE T A -
Bk EATEEE < UEAIEMEENTHR A BN is iR A R R ENT T —E S 2 AHE -
w TIEBMETEA ) B LB H AT o 3 E H RIS ET A -
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AptEPDS PR AT AT R #2252

F£F | "ol STER Bdt | JtE | hE | mE | E5F | RE | T
1024/ Nat [BSepL | ETHHRI<15E ZSET A # 13 0 4 3 3 1 24
BT < IE 2 g A HEC | 2,351 559 1,796]  700] 1,158]  102] 6,666

BT <15 2B LR 0.5529] 0.0000f 0.2227] 0.4285] 0.2590f 0.9803] 0.3600

lEtkEsfe @Ak <19 2 ST A8 16 7 1 8 6 0 38

BT <1E 4 A% | 1,991]  860] 1,034] 1.203]  924] 145 6,157

BT E< IR 0.8036] 0.8139] 0.0967| 0.6650] 0.6493] 0.0000] 0.6171

HulmBele AR HI<1E 2SR T A 0 0 1 0 0 0 1

BT <142 2 48 A\ 2% 28] 203 46 0 88 3] 368

BT <15 2 LR 0.0000] 0.0000] 2.1739] 0.0000] 0.0000f 0.0000] 0.2717

g2 B <1 2T AR 0 0 0 0 0 0 0

B ATHHRI<1 2 S8 A\ H 8 0 19 10 0 14 6 49

BT E< SRR 0.0000] 0.0000f 0.0000f 0.0000] 0.0000] 0.0000] 0.0000

1035/ et [BSepL | ETHRHRI<15E ZSET A # 16 2 3 3 2 0 26
BT <1E G A F8 | 2,561 627] 1443 815] 1278] 169 6,893

BT <15 2 LR 0.6247] 0.3189] 0.2079] 0.3680] 0.1564] 0.0000] 0.3771

lEkEsfe @ik <1 9 2 ST A8 14 8 7 3 8 0 40
BT <1E g A FE | 1,977]  802] 1,125 1,245] 989 87] 6,225

BT E< VSRR 0.7081] 0.9975] 0.6222] 0.2409] 0.8088] 0.0000] 0.6425

HulmBele AT HI<14E 2SR T A8 0 1 1 0 0 0 2
BT <142 2 48 A\ 2% s6]  236] 134 50 87 0] 563

BT <15 2 L% 0.0000] 0.4237] 0.7462] 0.0000] 0.0000f 0.0000] 0.3552

g2 B <1 2T AR 0 0 0 0 0 0 0

A ATHRHRI<1 2 S8 A\ H 8 0 12 23 0 5 0 40

BT E< VSRR 0.0000] 0.0000f 0.0000f 0.0000] 0.0000] 0.0000] 0.0000

1045/ et [P0 |ETHHRI<15E ZSET A # 13 2 7 0 3 2 27
BT < IE g A HEC [ 2,996 592 1,407]  496] 1,398]  135] 7,023

BT <15 2 LR 0.4339] 0.3378] 0.4975] 0.0000] 0.2145] 1.4814] 0.3844

lEatkEsfe @Ak <1 9 2 ST A8 16 3 5 5 5 0 34

BT <1E 2 dm A F% | 2,136]  777] 1,027] 1,108] 1,016] 144 6,208

BT E< SRR 0.7490] 0.3861] 0.4868] 0.4512] 0.4921] 0.0000] 0.5476

HulmBele AR EI<14E 2SR T A8 0 1 1 0 2 0 4

BT <145 2 48 A\ 2% s3] 218] 140 49 71 0 531

BT <1 2 LR 0.0000] 0.4587] 0.7142] 0.0000] 2.8169] 0.0000] 0.7532

g2 B E<1F 2T AR 0 0 0 0 0 0 0
FEATHHRI<1 2 S8 A H 8 0 11 15 0 11 0 37

BT E< VSRR 0.0000] 0.0000f 0.0000f 0.0000] 0.0000] 0.0000] 0.0000

105555 1R |5 puls [EATHFEI<15E 2SR T A\ # 2 0 1 1 1 1 6
BT < 1 2 485 A\ H 8 685] 170]  378]  137] 313 34 1,717

BT <15 2L 0.2919] 0.0000f 0.2645] 0.7299] 0.3194] 2.9411] 0.3494

lEkEsfe @Ak <19 2 Sh T A8 2 2 0 2 1 0 7
BT <15 2 485 A\ 5 2 526 205]  247]  324] 263 39] 1,604

BT E< IR 0.3802] 0.9756] 0.0000] 0.6172] 0.3802] 0.0000] 0.4364

HulmBele AT RI<14E 2SR T A 0 0 0 0 0 0 0

BT < 14 2 485 A\ H 8 6 48 52 0 15 o 121

BT <15 2 LR 0.0000] 0.0000f 0.0000] 0.0000] 0.0000f 0.0000] 0.0000

HJgopT B <1 2T AR 0 0 0 0 0 0 0
FATHHRI<1F 2 S8 A H 8 0 3 3 0 0 0 6

BT < V2R R 0.0000] 0.0000f 0.0000] 0.0000] 0.0000] 0.0000] 0.0000




1055552 |5 puls [EATHHE<15E Z SR T A # 2 0 3 1 0 0 6
BT <14 2 48 A\ H 8 647~ 186]  391]  168] 322 39] 1,753
BT <15 2 LR 0.3091] 0.0000f 0.7672] 0.5952] 0.0000f 0.0000] 0.3422
lEkEsfe @Ak <1 9 2 ST A 2 1 0 0 1 0 4
BT <15 2 485 N 5 2 536]  182] 243 358 263 33] 1,615
BT E< VSRR 0.3731] 0.5494] 0.0000] 0.0000] 0.3802] 0.0000] 0.2476
HulmBele AR RI<14E 2SR T A 0 0 0 0 0 0 0
BT <1 2 485 A\ H 8 17 52 56 0 20 o] 145
BT <15 2 L& 0.0000] 0.0000f 0.0000] 0.0000] 0.0000f 0.0000] 0.0000
g2 B <1 2T AR 0 0 0 0 0 0 0
B ATHRHRI<1F 2 S8 A\ H 8 0 2 2 0 0 0 4
BT E< IR 0.0000] 0.0000f 0.0000f 0.0000] 0.0000] 0.0000] 0.0000
1055553 |5 puls [EATHHEI<15E 7SR T A\ # 4 0 2 1 0 0 7
BT < 14 2 485 A\ H 8 651] ~ 195] 3971 177 330 43 1,793
BT <15 2 LR 0.6144] 0.0000] 0.5037] 0.5649] 0.0000f 0.0000] 0.3904
lEkEsfe @tk <1 9 2 ST A8 0 2 0 1 1 0 4
BT <15 2 485 A\ 5 2 558 1e8] 217 329] 276 32] 1,580
BT E< SRR 0.0000] 1.1904] 0.0000f 0.3039] 0.3623] 0.0000] 0.2531
HulmBele AR RI<14E 2SR ABY 1 0 0 0 0 0 1
EATHE< 1 2 485 A\ H 8 13 52 59 0 16 o] 145
BT <1 2 LR 5.5555] 0.0000f 0.0000] 0.0000] 0.0000f 0.0000] 0.6896
1%&
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FHEPDS ST SR 2L e

FF 53 Bl &d6 | JiE | % | & | S5 | RE | ©NEE

10255/ Ne T PEATHERE = 1 23R T A B 168 57 81 64 52 13 431
BEATH R = 14 27 48 A H B 21,718] 7,858] 11,755 9,815] 10,150] 1,145] 62,441
BEATHEE] = 14 2 SR T 0.7735] 0.7253] 0.6890] 0.6520] 0.5123] 1.1353] 0.6902
10355/ Ne T PEATHERE = 1 23R T A B 181 67 76 83 71 10 484
BRI = 14 27 48 A H 8 21,446] 8,005] 12,098] 9,839] 10,754] 1,159] 63,300
BATHEE] = 14E 2 SR T2 0.8439] 0.8369] 0.6282] 0.8435] 0.6602| 0.8628] 0.7646
10455/ Ne T PEATHERE = 1 23R T A B 166 65 85 59 68 11 453
BRI = 14 27 48 A H 8 21,392] 8,044] 12,277 9,986] 11,025] 1,167] 63,891
BATHEE] = 14E 2 SR T2 0.7759] 0.8080] 0.6923] 0.5908] 0.6167| 0.9425] 0.7090
105TEEE12E AT = 1 23R T A B 51 15 20 15 15 0 115
BEATH R = 14 27 480 A H B 5415) 1,976] 3,073] 2,459 2,841 287] 16,051
BEATHEE] = 14E 2 SR T2 0.9418] 0.7591] 0.6508] 0.6100] 0.5279] 0.0000] 0.7164
1055E 5522 PEMTHE R = 14 23R T A B 25 7 14 8 12 0 66
BRI = 14 27 48 A H B 5,456 1,968 3,070 2,455] 2,889 290] 16,128
BATHEE] = 14E 2 SR T2 0.4582] 0.3556] 0.4560] 0.3258] 0.4153] 0.0000] 0.4092
1055E 5532 PETHE R = 1 23R T A B 21 12 13 10 13 1 70
Lﬂ‘ﬁHTF‘Eﬁ ks  PNEL 5,489 1,963] 3,028 2,455| 2,873 292] 16,100
BEATHEE] = 14 2 SR T2 0.3825] 0.6113] 0.4293] 0.4073] 0.4524] 0.3424] 0.4347
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FEPDS ST _BHTEE &L
FF SR NE BEdg, | EEER | #WEER | EEZh

1025/t BRI = 1E 22300 A8 217 200 13 7
ENTIERE = 1452 489% AH %5 35,141 24,890 1,390 1,021
FENTHERE = 1E 22 FET % 0.6175 0.8035 0.9352 0.6856
1035F/\et BRI = 1E 22300 A8 219 250 11 11
FENTHER = 152> 885% A B 8% 35,368 25,609 1,497 830
ENTIERE = 1EE 2 FET R 0.6192 0.9762 0.7348 1.3253
1045/ BRI = 1E 22300 A8 214 226 10 5
NIRRT = 1452 489% A H 8 35,478 25,922 1,786 705
ERTHERE = 1E 22 FET % 0.6031 0.8718 0.5599 0.7092
1054E55 128 PEMTIERE = 159E 2R T A 61 50 4 1
FEHTHER = 1 2 4805 A\ H 8 8,870 6,585 442 154
ENTIERE = 1EE 2 FET % 0.6877 0.7593 0.9049 0.6493
10545522 A = 19 2 3R T A8 34 29 3 0
ENTIERE = 1452 489% AH 8 8,839 6,701 436 152
ERTHERE = 1E 22 FET % 0.3846 0.4327 0.6880 0.0000
1054E5532F AN = 14E 2 2R A 27 36 6 1
FEHTHER = 1 2 4805 A\ H 8 8,785 6,728 442 145
ENTIERE = 1EE 2 FET % 0.3073 0.5350 1.3574 0.6896
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$tEPDD AT SR Z1E L 2 F
EFE TR Pyl it | & | & | HE | &% | E& | /&t
1025/ et [BEE T, FEMTIEE = 14 2 500 Ay 94 21 40 24 30 [ 217
ENTIF = 1E 4% A F 8 | 13,429] 4,001 7,128] 4,027] 5.883]  583| 35,141
ENTHRL = 1EE 2SR LR 0.6999] 0.5133] 0.5611] 0.5959] 0.5099] 1.3722] 0.6175
BRI BT AT = L 23R T NS 74 24 37 39 22 5 200
NI = 14527 480% A H B 8,080 2,901 3,867 5,607 3,909  526] 24,890
BN = 14E 2 SET % 0.9158] 0.8273] 0.9568] 0.6955] 0.5628] 0.9505] 0.8035
M BEPT AT = UE 29T AEL 1 8 3 0 1 0 13
ENTHRRE = 14E27 480% A H 8 1971 533 297 of 334 o 1,390
ENTHFL = 1EE 2 SRR 0.5076] 1.4466] 1.0101] 0.0000] 0.2994] 0.0000] 0.9352
g2 hr B = E 2R T A 0 5 1 1 0 0 7
ENTHR = 14527 480% A H B 12 314] 463 181 24 27 1,021
BNTHER = 14E 2 SET % 0.0000] 1.5923] 0.2159] 0.5524] 0.0000] 0.0000] 0.6856
1035/ et [BEE T, BTG = 142 SR Ay 96 19 42 27 29 71 219
ENTHR = 1E 4% A F 8 | 13,035] 4,002 7.417] 4,109 6,163]  552] 35,368
ENTHFL = 1EE 2 SRR 0.7364] 0.4643] 0.5662] 0.6570] 0.4705] 1.2681] 0.6192
EIREE B = 1E 23R A8 85 36 32 55 40 3 250
FENTHR = 14527 480% A H B 8,206] 3,126] 3,938 5.,568] 4,188] 583 25,609
BN = 14E 2 SET % 1.0358] 1.1516] 0.8125] 0.9877] 0.9551] 0.5145] 0.9762
@B BT = 19 258 T A B 3 6 0 0 2 0 11
FENTHERE = 152 48 A F 8 193] 583] 350 2l 369 of 1,497
ENTHFL = 1EE 2 SRR 1.5544] 1.0291] 0.0000] 0.0000] 0.5420] 0.0000] 0.7348
FIE2hT BT = L 23R T A 0 8 2 1 0 0 11
NI = 14527 480% A H B 12 206] 393 161 34 24 830
BN = 14E 2 SET % 0.0000] 3.8834] 0.5089] 0.6211] 0.0000] 0.0000] 1.3253
1045/ Net B2z, PEMTIERE = 14E 22380 A8 83 19 54 20 31 71 214
ENTHR = 1E 2% A T8 | 12,904] 3,978 7,427 4,228] 6,359] 582 35,478
ENTHFL = 1EE 2 SRR 0.6432] 0.4776] 0.7270] 0.4730] 0.4874] 1.2027] 0.6031
EI BT AT = L 23R T A 81 41 27 38 36 4 226
NI = 14527 480% A H B 8,296 3,235 4,038 5,547 4,243 563 25,922
BN = 14E 2 SET % 0.9763] 1.2673] 0.6686] 0.6850] 0.8484] 0.7104] 0.8718
@B BT = 19 258 T A B 3 b 2 0 1 0 10
ENTHRRE = 14E27 480% A H 8 189] 667 471 2l 377 of 1,786
ENTHR = 1EE 2 SRR 1.5873] 0.5997] 0.4246] 0.0000] 0.2652] 0.0000| 0.5599
g2 B = 19 2980T B 0 1 2 2 0 0 5
ZEHTHR = 14 2 4805 A\ H#L 3 164] 341 129 46 22 705
BN = 14E 2 SET % 0.0000] 0.6097] 0.5865] 1.5503] 0.0000] 0.0000] 0.7092
105TEE5 128 BB TPy 7B MTHG I = 14E 2 9B T AL 33 6 11 4 7 0 61
ENTHRRE = 14E 27 48% A H 8 32521 971 1,839 1,019 1,643 146] 8,870
ENTHFL = 12 SRR 1.0147] 0.6179] 0.5981] 0.3925] 0.4260] 0.0000] 0.6877
EIREELT BRI = U 2SR T A B 18 6 8 11 7 0 50
ENTHR = 14527 480% A H 8 2,115] 808 1,028] 1,410 1,084 140 6,585
BN = 14E 2 SET % 0.8510] 0.7425] 0.7782] 0.7801] 0.6457] 0.0000] 0.7593
@B BT = 159 2 5E T A BY 0 3 0 0 1 0 b
FENTHERE = 152 48 A F 8 48 162 128 of 104 of 442
ENTHRL = 1EE 2SR LR 0.0000] 1.8518] 0.0000] 0.0000] 0.9615] 0.0000] 0.9049
FEg2 A B = 19 2980T B 0 0 1 0 0 0 1
ZEHTHR = 14 2 4805 A\ H #L 0 35 78 30 10 1 154
BNTHER = 14E 2 SET % 0.0000] 0.0000] 1.2820] 0.0000] 0.0000] 0.0000] 0.6493




10555523 B B2 Py 7B MTHGH T = 14E 2 9B T A 15 1 11 2 5 0 34
ENTHRRE = 14E27 480% A H 8 3261 940 1,839 997 1,654 148 8,839

ENTHFL = 1EE 2SR LR 0.4599] 0.1063] 0.5981] 0.2006] 0.3022] 0.0000] 0.3846

EIREELT PEATHEE = UE 2SR T A 10 5 2 6 6 0 29
ENTHR = 14527 480% A H 8 21471 829 1,028] 1,428 1,127 142] 6,701

ENTHRR = 1E 7 SR TR 0.4657] 0.6031] 0.1945] 0.4201] 0.5323] 0.0000] 0.4327
@B BT = 159 258 T A B 0 1 1 0 1 0 3
FENTHEE = 1552 48 A F 8 48 162 127 0 99 of 436

ENTHRL = 1EE 2SR LR 0.0000] 0.6172] 0.7874] 0.0000] 1.0101] 0.0000] 0.6880

FIE2hT BT = L 2 9E T A 0 0 0 0 0 0 0
ZEHTHR = A 2 4805 A\ H#L 0 37 76 30 9 0 152

BN = 14E 2 SET % 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000] 0.0000
10555532 BB Py 7B MG = 14E 29 T AL 9 4 5 3 5 1 27
FENTHRRE = 14E27 480% A H 8 3273 913 1,810 1,002 1,639 148] 8,785

ENTHFL = 1EE 2 SRR 0.2749] 0.4381] 0.2762] 0.2994] 0.3050] 0.6756] 0.3073

EIREELT PEATHEE = UE 2SR T A B 10 4 7 7 8 0 36
NI = 14527 480% A H B 2,171 843 1,017 1,429 1,124] 144] 6,728

BN = 14E 2 SET % 0.4606] 0.4744] 0.6882] 0.4898] 0.7117] 0.0000] 0.5350

@B BT = 159 2 5E T A B 2 3 1 0 0 0 6
FENTHERE = 1527 48 A F 8 45 168 128 of 101 of 442

ENTHRL = 1EE 2 SRR 4.4444] 1.7857] 0.7812] 0.0000] 0.0000] 0.0000] 1.3574

FEg2 A B = 19 2980T B 0 1 0 0 0 0 1
ENTHR = 14527 480% A H 8 0 39 73 24 9 of 145

BN = 14E 2 SET % 0.0000] 2.5641] 0.0000] 0.0000] 0.0000] 0.0000] 0.6896

st
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3T oy RHRER TR ZSE AR -
SrBE - BT = 1EARMEETR A LR geat HIEA Rl TR E A B 2 AR E -
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FB?Caé‘#?F5}§\n??ﬁ#ﬂ*ﬂ
FERE S 474 1] 5;35/% 7R

£ Z AT H] o A A % ¥ 3% 5 A K T &3t
104# %1% |4~ PR S 0.05% 0.16% 0.10% 0.02% 0.02% [ 0.01% | 0.06%
104# % 2% |4~ PR S 0.01% 0.10% 0.12% 0.01% 0.01% [ 0.03% | 0.04%
104# 3% |4~ PR F 0.01% 0.08% 0.13% 0.01% 0.01% [ 0.00% | 0.04%
104# 4% |4~ PR S 0.01% 0.11% 0.12% 0.01% 0.01% [ 0.01% | 0.04%
104 -] 3+ [ P PR S 0. 02% 0.11% 0.12% 0.01% 0.01% [ 0.01% | 0.05%
106# % 1% |4~ 1R 5§ 0. 02% 0.22% 0.10% 0.01% 0.01% [ 0.02% | 0.06%
106# % 2% |4~ PR 5 0. 02% 0.18% 0.09% 0.01% 0.01% [ 0.00% | 0.05%
106# % 3% |4~ PR & 0.01% 0.21% 0.09% 0.01% 0.02% [ 0.00% | 0.05%
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